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LIFE SCIENCE

LSE-06 : PLANT DEVELOPMENT BIOLOGY AND

ANIMAL DEVELOPMENT BIOLOGY

Time : 2 Hours Maximum Marks : 50

Note : Use separate answer sheets for Part I and
Part II. Be brief and precise in your answers.
Draw neat and labelled diagrams wherever

necessary.
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Part—I (Marks : 25)

(Plant Development Biology)

Note : (i) Question No. 1is compulsory.

(i1) Attempt any four questions from

Question Nos. 2 to 7.

(i11)All questions carry equal marks.

1. (a) Choose the correct term/example given in

bracket : 2

@)

(if)

The first observation in somatic
embryogenesis was made in (Daucus

carota/Ranunculus sceleratus).

The ovule develops from a specialised
region of ovary called

(placenta/receptacle).

(b) Fill in the blanks : 2

)

When barley grain is soaked in water,
the phytohormones ..........cc.c.... are
released from the scutellum of the

embryo.
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(1) The fusiform initial cells form
secondary xylem by ... cell
division.
(c) State whether the following statements are

True or False : 1

() A young anther consists of a
homogeneous mass of meristematic
cells that are surrounded by

epidermis.

(i) On pollen hydration, the proteins of
gametophytic origin are first to leach
out whereas proteins of sporophytic

origin take longer time.

(a) Draw a sectional view of mature synergid.
Depict by means of arrows the direction of
flows of nutrients into the embryo sac
through synergids. 3

(b) Discuss the mechanism of ‘Solar’ tracking.

2

P.T. O.



(a)

(b)
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Describe the secondary growth in a
dicotyledonous stem. 2%
Explain  general  development and

structure of vascular cambium. 2=

Define embryogenesis. Discuss the factors that

control/influence embryogenesis in in-vitro

condition. Support your answer with specific

examples. 5

Write short notes on any two of the following : 5

(a) Dicliny

(b) Syngamy

(¢

Economic importance of wood

(d) Periderm

Describe five physiological effects of naturally

occurring plant growth regulators. 5
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7. (a) Define Geotropism. Mention the names
and role of plant regulators associated with
geotropism. 1+2=3

(b) What is phylotaxy ? How would you find

the phyllotaxy number of a plant ? 1+1=2

P.T.O.
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Part—II (Marks : 25)

(Animal Development Biology)

Note : (1) Question No. 8 is compulsory.

(1) Attempt any four questions from

Question Nos. 9 to 14.

(i1i)All questions carry equal marks.

8. (a) Fill in the blanks : 1x2=2

(1) The nucleus of fertilized egg is termed

A8 reveririricennionne .

(i) Vital dye is normally used to create
fate map of ... stage of an

embryo.

(b) Choose the correct option from those given

in the parenthesis : 1x2=2

(i) Elongation of epithelial cells preceding
any morphogenetic event in epithelial
cells 1s termed as

(palisading/evagination).



10.

11.

12.

13.
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(i) Blastomeres that have the potential to
give rise to all kinds of cell types are
(pluripotent/totipotent).

(¢) Name the tissue of limb field essential for

limb development. 1

What is metamorphosis ? List four
metamorphic changes in the external features

of aneurans citing the related functions. 5

Giving examples briefly explain the role of any
two endocrine glands in process of regeneration

in vertebrates. 5
(a) With the help of a graph briefly explain
sigmoid growth curve. 2%
(b) What is somatotropin ? Explain its role in
vertebrates. 2—21-
With the help of a diagrammatic sketch, show
the interrelationship between hypothalamus,
pituitary, ovaries and wuterus during one
reproductive cycle of human female. 5
Write the outcome of any five processes given
below : 5
(a) Spermiogenesis
(b) Cleavage

P.T.O.
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Neurulation
Organogenesis
Senescence

Embryonic induction

Write short notes on any fwo of the following :

(a)

(b)
©
(&)

2x22=5
2
Instructive interaction between ectoderm

and mesenchymal cells.
Determination of limb polarities
Neoteny

Implantation
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